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Q. 4. The product of two rational numbers
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Q. 6. By

multiplied so
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what nomber should ==
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that the product IS

: mber be x then .
=20 9 Solution. Let the required nu gt
sy = 9 Ans 5 E
Q. 'S5. The product of two rational numbers ERX LT 6
15 - 10. If one of the number s 15, find the other. _13
Solution. Let the other number be x then : a ) + (‘—)
According to the question FT16 \ 4
I5xx = —10 ' 5; |
S 15,4 _ XA
x=-10+15= —10x— =16 =3 Kx(=2)
| K = 4
—Mx1 5 -
= §%1 = —3- Ans = "1 =1 Ans
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.I - Objective Type Questions ]‘
- . ) + i X -6_) - |
‘ (lV) K j 147 21 = ceiveenins
a c . c . a 5 ° 6
-4 —= . — il —_
@ If by 0, thén 7S e of (a) > (b) 2
-(a) Additive inverse o . 5 : 40
b) Multiplicative inverse ,(C) 9 (d) 49"
(c) Additive identity , 40
(d) Multiplicative identity. Ans. (d) Ty
Ans. (@) Additive inverse. _ . & _
.(if) Which of the following statement is not (v) Find additive inverse of _—7 .
true ? T g w ' 1
(@ a+b=b+a (b) axb=bxaq (a)l ®) —19
() a-b=b-a (d) Al are true. 19 | 7
Ans. (c) a-b=b-aq ' e ()1_9_ ‘
(i) rWhich of the following letters on the given 13 7 @ 1.
5, 0 veds | 7
number line represents 3 - . Ans. (a) I
o E F 1. G H (vi) Fill in the blank :~4x1 =
—o—o—o0—o0—o—o0— 5 N X 5.8
'y (@ -1 ®) 1
(@) E (b) F @ =4 |
) G (4) H R @ 0.
AllS. (d) H' \.




(vﬂ) Which of the followin
is reciprocal of itself 9

@ 1 (b) - 10

(c) 2
o ) o.
~ (viii) How many

g rationa] number

rational numbers are there in

S ol
between — and — 9
6 6 '
(a) 2
(¢) Limited

‘Ans. (@) Infinite.

). 1
(d) Infinite,

(ix) Multiplicative iﬁverse of i is :
5 :

=7
@ — b 75
3
(c) 5 (@2)) 5
S S
Ans. (b) —.

2. Choose True/FaIse for the following .
questions : T

- =5
(i) The additive inverse of Y is g

£ (Tme/Fa}se)
Ans. '_I‘rue. y .

—————— AN AN N S IR

ir Y

’ . -13 . 13
(ii) Multiplicative inverse of —— T 15 Tg -
(True/False)
Ans. False.
8 1
(#ii) Y is the multlpllcatlve inverse of — 1_3_
| (TruelFalse)
Ans. False.
(iv) Zero has no reciprocal. (True/False)
Ans. True.
) Rec1procal of 1 is the inverse of itself.
: (True/False)
Ans. True. .
3. Fill in the blanks :
(i) The reciprocal of 0.3 1S ceeveeeenes
1
Ans. 3 3
(ii) The reciprocal of —'5 1S ..ccceeeeee
Ans /:l |
5
(iii) Reciprocal of ; , where x # 0 1s .......
Ans. x.
(iv) The product of two rational numbers is
always a ........... .
. rational number.

The reciprocal of a positive rational
number is ........... %

. rational number.



